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Ry=(usfu)x100=——"x100=92.72 (%)  (4) R, = [u)x100= "2 x100=7.27 (%) (5)
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U=k-u, =2x17.69=354 (kN/m?) (6) Ug = (U/X)x100 = oo x100=32.1 (%) (7)
3. 1 i -2 x Ue (x)
J Xij x 2012 2009
uc(x) -2 X; x,uc(x) a b c d
< _ _ w 59.96 59.52 43.83 42.56
! Yi Y w (%) U (W) 1.539 1.774 0.864 0.707
oy X uq(x) 2 1.632 1.633 1.707 1.712
o, pi @cm) | u(p) | 00166 | 00194 | 00168 | 00228
’ Pu 1.019 1.020 1.187 1.201
pa @em’) [u(py) | 0.0155 0.0254 0.0139 0.0186
% 110.23 144.74 173.26 226.12
g, (kN/m?) u.(q,) 17.69 22.77 17.94 26.93
5 B 8.75 8.01 5.26 4.36
er () usp) | 173 1.72 0.75 0.67
3.2 6 Esy 9.82 15.52 23.29 28.19
@ ) -2 Es) (MN/M) [ gy | 361 5.61 9.61 9.53
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